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Mplus: how to get started? - Solutions
Rens van de Schoot; Peter Lugtig; Joop Hox; Department of Methods and Statistics, Utrecht University
Exercise 1 – Multiple regression in SPSS

1a.

The following output is obtained using the syntax from the exercise:
	Correlations

	
	social desirability
	covert anti social behaviour
	overt anti social behaviour

	social desirability
	Pearson Correlation
	1
	-,510**
	-,334**

	
	Sig. (2-tailed)
	
	,000
	,000

	
	N
	1346
	1343
	1344

	covert anti social behaviour
	Pearson Correlation
	-,510**
	1
	,386**

	
	Sig. (2-tailed)
	,000
	
	,000

	
	N
	1343
	1343
	1343

	 overt anti social behaviour
	Pearson Correlation
	-,334**
	,386**
	1

	
	Sig. (2-tailed)
	,000
	,000
	

	
	N
	1344
	1343
	1344

	**. Correlation is significant at the 0.01 level (2-tailed).


Both the correlation between sd and overt (-0.334) and sd and covert (-0.510) are highly significant (p < 0.001). They are also both negative: when sd goes up, both overt and covert will go down. 
1b.
The following output is obtained using the syntax from the exercise:

	Model Summaryb

	Model
	R
	R Square
	Adjusted R Square
	Std. Error of the Estimate

	1
	,531a
	,282
	,280
	,57421

	a. Predictors: (Constant),  overt anti social behaviour, covert anti social behaviour
b. Dependent Variable: social desirability



	ANOVAa

	Model
	Sum of Squares
	df
	Mean Square
	F
	Sig.

	1
	Regression
Residual
Total
	173,137
441,817
614,954
	2
1340
1342
	86,568
,330
	262,556
	,000b

	a. Dependent Variable: social desirability
b. Predictors: (Constant),  overt anti social behaviour, covert anti social behaviour


	Coefficientsa

	Model
	Unstandardized Coefficients
	Standardized Coefficients
	t
	Sig.

	
	B
	Std. Error
	Beta
	
	

	1
	(Constant)
	4,997
	,066
	
	75,497
	,000

	
	covert anti social behaviour
	-,507
	,028
	-,448
	-17,846
	,000

	
	 overt anti social behaviour
	-,292
	,046
	-,160
	-6,374
	,000

	a. Dependent Variable: social desirability


The regression model is significant with F(2, 1340)=262.556, p<.001. Both covert and overt are significant predictors of sd (p < 0.001). The coefficients are negative, which means that if covert increases by one unit, sd will decrease by 0.507. If overt increases by one unit, sd will decrease by 0.292. R2=0.282, which means that 28.2% of the variance in social desirability can be explained by overt and covert anti-social behaviour. 
Exercise 2 – Multiple regression in Mplus

2a.

Note that the correlation between covert and overt is estimated to be -0.333 in Mplus and -0.334 in SPSS. This can be explained by differences in rounding; the actual correlation is -0.333556. SPSS obtains -0.334 by rounding the third decimal, whereas Mplus merely displays the first three decimals of the correlation.

2b.
Again, both covert and overt are significant predictors of sd (p < 0.001). The coefficients are negative, which means that if covert increases by one unit, sd will decrease by 0.507. If overt increases by one unit, sd will decrease by 0.291. The intercept in Mplus is 4.996, while the intercept in SPSS is 4.997. Also, the coefficient for overt differs: -0.292 in SPSS vs. -0.291 in Mplus. These small differences can again be explained by different rounding of SPSS and Mplus.
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